Student Feedback on Curriculum Class : IIIBA SOCIOLOGY HONOURS Department : SOCIOLOGY

Overall Performance

S.No	Variables	Feedback Given	E	G	А	F	Р	Total
1	Rate the overall online initiative taken by the college in this odd semester.	20/21	0 0.00%	0 0.00%	0 0.00%	0 0.00%	0 0.00%	0 (0.00%)
2	Rate the overall online initiative taken by the college in this odd semester.	20/21	1 5.00%	9 45.00%	8 40.00%	2 10.00%	0 0.00%	20 (69.00%)
3	Rate the practical knowledge gained from the current syllabus.	20/21	0 0.00%	8 40.00%	9 45.00%	1 5.00%	2 10.00%	20 (63.00%)
4	Availability of syllabus based material online.	20/21	0 0.00%	6 30.00%	12 60.00%	0 0.00%	2 10.00%	20 (62.00%)
5	Rate the overall syllabus completion on time.	20/21	3 15.00%	5 25.00%	8 40.00%	4 20.00%	0 0.00%	20 (67.00%)
6	How much intellectual challenging and thought- provoking was the course	20/21	0 0.00%	6 30.00%	12 60.00%	1 5.00%	1 5.00%	20 (63.00%)
7	Rate the teaching/learning experience online.	20/21	0 0.00%	8 40.00%	10 50.00%	0 0.00%	2 10.00%	20 (64.00%)
8	Rate the style of presentation and explanation of the faculties.	20/21	1 5.00%	7 35.00%	10 50.00%	2 10.00%	0 0.00%	20 (67.00%)
9	Rate the quality of teaching in the institution.	20/21	3 15.00%	8 40.00%	7 35.00%	2 10.00%	0 0.00%	20 (72.00%)
10	Rate the transparent evaluation system in the college	20/21	0 0.00%	7 35.00%	12 60.00%	1 5.00%	0 0.00%	20 (66.00%)
11	Rate the BEEA activities, cells activities.	20/21	3 15.00%	11 55.00%	6 30.00%	0 0.00%	0 0.00%	20 (77.00%)
	Overall %	5.50%	37.50%	47.00%	6.50%	3.50%	67.00%	

Student Feedback on Curriculum

Class : I BA SOCIOLOGY HONOURS Department : SOCIOLOGY

Overall Performance

S.No	Variables	Feedback Given	E	G	А	F	Р	Total	
1	Rate the overall online initiative taken by the college in this odd semester.	44/51	0 0.00%	0 0.00%	0 0.00%	0 0.00%	0 0.00%	0 (0.00%)	
2	Rate the overall online initiative taken by the college in this odd semester.	44/51	6 13.64%	29 65.91%	6 13.64%	3 6.82%	0 0.00%	44 (77.28%)	
3	Rate the practical knowledge gained from the current syllabus.	44/51	1 2.27%	18 40.91%	19 43.18%	5 11.36%	1 2.27%	44 (65.91%)	
4	Availability of syllabus based material online.	44/51	3 6.82%	28 63.64%	11 25.00%	1 2.27%	1 2.27%	44 (74.09%)	
5	Rate the overall syllabus completion on time.	44/51	9 20.45%	24 54.55%	8 18.18%	3 6.82%	0 0.00%	44 (77.73%)	
6	How much intellectual challenging and thought- provoking was the course	44/51	3 6.82%	19 43.18%	15 34.09%	7 15.91%	0 0.00%	44 (68.18%)	
7	Rate the teaching/learning experience online.	44/51	3 6.82%	17 38.64%	19 43.18%	5 11.36%	0 0.00%	44 (68.19%)	
8	Rate the style of presentation and explanation of the faculties.	44/51	6 13.64%	27 61.36%	9 20.45%	1 2.27%	1 2.27%	44 (76.36%)	
9	Rate the quality of teaching in the institution.	44/51	8 18.18%	32 72.73%	2 4.55%	2 4.55%	0 0.00%	44 (80.91%)	
10	Rate the transparent evaluation system in the college	44/51	5 11.36%	24 54.55%	10 22.73%	5 11.36%	0 0.00%	44 (73.19%)	
11	Rate the BEEA activities, cells activities.	44/51	8 18.18%	27 61.36%	6 13.64%	3 6.82%	0 0.00%	44 (78.18%)	
	Overall %		11.82%	55.68%	23.86%	7.95%	0.68%	74.00%	

Student Feedback on Curriculum

Class : III BA ENGLISH HONOR

Department : ENGLISH

(E - Excellent, G - Go	ood, A - Average, F	- Fair, P - Poor)
------------------------	---------------------	--------------------

S.No	Variables	Feedback Given	E	G	Α	F	Р	Total
1	Rate the overall online initiative taken by the college in this odd semester.	27/28	0 0.00%	0 0.00%	0 0.00%	0 0.00%	0 0.00%	0 (0.00%)
2	Rate the overall online initiative taken by the college in this odd semester.	27/28	8 29.63%	9 33.33%	8 29.63%	1 3.70%	1 3.70%	27 (76.30%)
3	Rate the practical knowledge gained from the current syllabus.	27/28	3 11.11%	10 37.04%	7 25.93%	5 18.52%	2 7.41%	27 (65.19%)
4	Availability of syllabus based material online.	27/28	3 11.11%	12 44.44%	9 33.33%	2 7.41%	1 3.70%	27 (70.37%)
5	Rate the overall syllabus completion on time.	27/28	7 25.93%	16 59.26%	3 11.11%	0 0.00%	1 3.70%	27 (80.75%)
6	How much intellectual challenging and thought- provoking was the course	27/28	2 7.41%	14 51.85%	7 25.93%	4 14.81%	0 0.00%	27 (70.38%)
7	Rate the teaching/learning experience online.	27/28	2 7.41%	11 40.74%	7 25.93%	4 14.81%	3 11.11%	27 (63.71%)
8	Rate the style of presentation and explanation of the faculties.	27/28	9 33.33%	11 40.74%	5 18.52%	1 3.70%	1 3.70%	27 (79.25%)
9	Rate the quality of teaching in the institution.	27/28	8 29.63%	13 48.15%	4 14.81%	2 7.41%	0 0.00%	27 (80.00%)
10	Rate the transparent evaluation system in the college	27/28	4 14.81%	16 59.26%	5 18.52%	1 3.70%	1 3.70%	27 (75.55%)
11	Rate the BEEA activities, cells activities.	27/28	5 18.52%	18 66.67%	3 11.11%	1 3.70%	0 0.00%	27 (80.00%)
	Overall %			48.15%	21.48%	7.78%	3.70%	74.15%

Student Feedback on Curriculum

Class : II BA ENGLISH HONOURS

Department : ENGLISH

(E - Excellent, G - Good, A - Average, F - Fair, P - Poo	(E-	Excellent,	G - Good, A -	- Average,	F - Fair,	P - Poor)
--	-----	------------	---------------	------------	-----------	----------	---

S.No	Variables	Feedback Given	E	G	Α	F	Р	Total
1	Rate the overall online initiative taken by the college in this odd semester.	28/30	0 0.00%	0 0.00%	0 0.00%	0 0.00%	0 0.00%	0 (0.00%)
2	Rate the overall online initiative taken by the college in this odd semester.	28/30	3 10.71%	14 50.00%	9 32.14%	2 7.14%	0 0.00%	28 (72.86%)
3	Rate the practical knowledge gained from the current syllabus.	28/30	1 3.57%	12 42.86%	10 35.71%	4 14.29%	1 3.57%	28 (65.71%)
4	Availability of syllabus based material online.	28/30	2 7.14%	12 42.86%	8 28.57%	5 17.86%	1 3.57%	28 (66.42%)
5	Rate the overall syllabus completion on time.	28/30	3 10.71%	18 64.29%	4 14.29%	3 10.71%	0 0.00%	28 (75.00%)
6	How much intellectual challenging and thought- provoking was the course	28/30	2 7.14%	13 46.43%	11 39.29%	2 7.14%	0 0.00%	28 (70.71%)
7	Rate the teaching/learning experience online.	28/30	1 3.57%	16 57.14%	2 7.14%	8 28.57%	1 3.57%	28 (65.71%)
8	Rate the style of presentation and explanation of the faculties.	28/30	4 14.29%	17 60.71%	7 25.00%	0 0.00%	0 0.00%	28 (77.86%)
9	Rate the quality of teaching in the institution.	28/30	5 17.86%	18 64.29%	4 14.29%	1 3.57%	0 0.00%	28 (79.29%)
10	Rate the transparent evaluation system in the college	28/30	3 10.71%	14 50.00%	9 32.14%	2 7.14%	0 0.00%	28 (72.86%)
11	Rate the BEEA activities, cells activities.	28/30	6 21.43%	12 42.86%	7 25.00%	3 10.71%	0 0.00%	28 (75.01%)
	Overall %			52.14%	25.36%	10.71%	1.07%	72.14%

Student Feedback on Curriculum

Class : I BA EDUCATION HONOURS Department : EDUCATION

Overall Performance

		Foodbook						
S.No	Variables	Feedback Given	E	G	Α	F	Р	Total
1	Rate the overall online initiative taken by the college in this odd semester.	18/21	0 0.00%	0 0.00%	0 0.00%	0 0.00%	0 0.00%	0 (0.00%)
2	Rate the overall online initiative taken by the college in this odd semester.	18/21	0 0.00%	13 72.22%	5 27.78%	0 0.00%	0 0.00%	18 (74.45%)
3	Rate the practical knowledge gained from the current syllabus.	18/21	2 11.11%	11 61.11%	4 22.22%	1 5.56%	0 0.00%	18 (75.55%)
4	Availability of syllabus based material online.	18/21	5 27.78%	11 61.11%	1 5.56%	1 5.56%	0 0.00%	18 (82.22%)
5	Rate the overall syllabus completion on time.	18/21	5 27.78%	10 55.56%	1 5.56%	2 11.11%	0 0.00%	18 (79.99%)
6	How much intellectual challenging and thought- provoking was the course	18/21	1 5.56%	9 50.00%	6 33.33%	2 11.11%	0 0.00%	18 (70.00%)
7	Rate the teaching/learning experience online.	18/21	2 11.11%	6 33.33%	7 38.89%	2 11.11%	1 5.56%	18 (66.66%)
8	Rate the style of presentation and explanation of the faculties.	18/21	3 16.67%	13 72.22%	1 5.56%	0 0.00%	1 5.56%	18 (78.89%)
9	Rate the quality of teaching in the institution.	18/21	9 50.00%	8 44.44%	1 5.56%	0 0.00%	0 0.00%	18 (88.89%)
10	Rate the transparent evaluation system in the college	18/21	2 11.11%	13 72.22%	2 11.11%	1 5.56%	0 0.00%	18 (77.78%)
11	Rate the BEEA activities, cells activities.	18/21	4 22.22%	9 50.00%	1 5.56%	3 16.67%	1 5.56%	18 (73.33%)
	Overall %			57.22%	16.11%	6.67%	1.67%	76.78%

Student Feedback on Curriculum Class : II BA SOCIOLOGY HONOURS

Department : SOCIOLOGY

Overall Performance

S.No	Variables	Feedback Given	E	G	Α	F	Р	Total
1	Rate the overall online initiative taken by the college in this odd semester.	14/22	0 0.00%	0 0.00%	0 0.00%	0 0.00%	0 0.00%	0 (0.00%)
2	Rate the overall online initiative taken by the college in this odd semester.	14/22	3 21.43%	6 42.86%	1 7.14%	4 28.57%	0 0.00%	14 (71.44%)
3	Rate the practical knowledge gained from the current syllabus.	14/22	2 14.29%	4 28.57%	5 35.71%	2 14.29%	1 7.14%	14 (65.72%)
4	Availability of syllabus based material online.	14/22	4 28.57%	6 42.86%	2 14.29%	2 14.29%	0 0.00%	14 (77.14%)
5	Rate the overall syllabus completion on time.	14/22	4 28.57%	4 28.57%	4 28.57%	2 14.29%	0 0.00%	14 (74.28%)
6	How much intellectual challenging and thought- provoking was the course	14/22	2 14.29%	5 35.71%	3 21.43%	4 28.57%	0 0.00%	14 (67.15%)
7	Rate the teaching/learning experience online.	14/22	1 7.14%	6 42.86%	2 14.29%	4 28.57%	1 7.14%	14 (62.86%)
8	Rate the style of presentation and explanation of the faculties.	14/22	4 28.57%	6 42.86%	2 14.29%	2 14.29%	0 0.00%	14 (77.14%)
9	Rate the quality of teaching in the institution.	14/22	4 28.57%	7 50.00%	1 7.14%	2 14.29%	0 0.00%	14 (78.57%)
10	Rate the transparent evaluation system in the college	14/22	3 21.43%	5 35.71%	3 21.43%	3 21.43%	0 0.00%	14 (71.43%)
11	Rate the BEEA activities, cells activities.	14/22	3 21.43%	4 28.57%	3 21.43%	4 28.57%	0 0.00%	14 (68.58%)
	Overall %		21.43%	37.86%	18.57%	20.72%	1.43%	71.43%

Student Feedback on Curriculum Class : II BA EDUCATION HONOURS Department : EDUCATION

Overall Performance

S.No	Variables	Feedback Given	E	G	A	F	Р	Total	
1	Rate the overall online initiative taken by the college in this odd semester.	24/29	0 0.00%	0 0.00%	0 0.00%	0 0.00%	0 0.00%	0 (0.00%)	
2	Rate the overall online initiative taken by the college in this odd semester.	24/29	2 8.33%	8 33.33%	11 45.83%	3 12.50%	0 0.00%	24 (67.50%)	
3	Rate the practical knowledge gained from the current syllabus.	24/29	1 4.17%	8 33.33%	12 50.00%	1 4.17%	2 8.33%	24 (64.18%)	
4	Availability of syllabus based material online.	24/29	4 16.67%	11 45.83%	4 16.67%	5 20.83%	0 0.00%	24 (71.67%)	
5	Rate the overall syllabus completion on time.	24/29	6 25.00%	10 41.67%	5 20.83%	3 12.50%	0 0.00%	24 (75.83%)	
6	How much intellectual challenging and thought- provoking was the course	24/29	2 8.33%	12 50.00%	10 41.67%	0 0.00%	0 0.00%	24 (73.33%)	
7	Rate the teaching/learning experience online.	24/29	1 4.17%	10 41.67%	6 25.00%	5 20.83%	2 8.33%	24 (62.50%)	
8	Rate the style of presentation and explanation of the faculties.	24/29	5 20.83%	12 50.00%	4 16.67%	3 12.50%	0 0.00%	24 (75.83%)	
9	Rate the quality of teaching in the institution.	24/29	8 33.33%	11 45.83%	3 12.50%	2 8.33%	0 0.00%	24 (80.83%)	
10	Rate the transparent evaluation system in the college	24/29	6 25.00%	9 37.50%	6 25.00%	3 12.50%	0 0.00%	24 (75.00%)	
11	Rate the BEEA activities, cells activities.	24/29	8 33.33%	6 25.00%	5 20.83%	3 12.50%	2 8.33%	24 (72.50%)	
	Overall %			40.42%	27.50%	11.67%	2.50%	71.92%	

Student Feedback on Curriculum

Class : III BA POLITICAL SCIENCE HONOURS **Department : POLITICAL SCIENCE**

Overall Performance

S.No	Variables	Feedback Given	E	G	Α	F	Р	Total
1	Rate the overall online initiative taken by the college in this odd semester.	35/51	0 0.00%	0 0.00%	0 0.00%	0 0.00%	0 0.00%	0 (0.00%)
2	Rate the overall online initiative taken by the college in this odd semester.	35/51	5 14.29%	17 48.57%	10 28.57%	3 8.57%	0 0.00%	35 (73.72%)
3	Rate the practical knowledge gained from the current syllabus.	35/51	7 20.00%	14 40.00%	9 25.71%	4 11.43%	1 2.86%	35 (72.57%)
4	Availability of syllabus based material online.	35/51	3 8.57%	20 57.14%	9 25.71%	3 8.57%	0 0.00%	35 (73.14%)
5	Rate the overall syllabus completion on time.	35/51	8 22.86%	17 48.57%	7 20.00%	3 8.57%	0 0.00%	35 (77.15%)
6	How much intellectual challenging and thought- provoking was the course	35/51	3 8.57%	19 54.29%	11 31.43%	2 5.71%	0 0.00%	35 (73.15%)
7	Rate the teaching/learning experience online.	35/51	4 11.43%	20 57.14%	6 17.14%	4 11.43%	1 2.86%	35 (72.57%)
8	Rate the style of presentation and explanation of the faculties.	35/51	9 25.71%	21 60.00%	4 11.43%	1 2.86%	0 0.00%	35 (81.71%)
9	Rate the quality of teaching in the institution.	35/51	9 25.71%	21 60.00%	4 11.43%	1 2.86%	0 0.00%	35 (81.71%)
10	Rate the transparent evaluation system in the college	35/51	5 14.29%	22 62.86%	6 17.14%	2 5.71%	0 0.00%	35 (77.16%)
11	Rate the BEEA activities, cells activities.	35/51	7 20.00%	20 57.14%	5 14.29%	3 8.57%	0 0.00%	35 (77.71%)
	Overall %			54.57%	20.28%	7.43%	0.57%	76.06%

Student Feedback on Curriculum

Class : I BA HISTORY HONOURS

Department : HISTORY

S.No	Variables	Feedback Given	E	G	Α	F	Р	Total
1	Rate the overall online initiative taken by the college in this odd semester.	18/18	0 0.00%	0 0.00%	0 0.00%	0 0.00%	0 0.00%	0 (0.00%)
2	Rate the overall online initiative taken by the college in this odd semester.	18/18	3 16.67%	12 66.67%	3 16.67%	0 0.00%	0 0.00%	18 (80.00%)
3	Rate the practical knowledge gained from the current syllabus.	18/18	0 0.00%	9 50.00%	6 33.33%	0 0.00%	3 16.67%	18 (63.33%)
4	Availability of syllabus based material online.	18/18	1 5.56%	10 55.56%	6 33.33%	0 0.00%	1 5.56%	18 (71.11%)
5	Rate the overall syllabus completion on time.	18/18	0 0.00%	12 66.67%	3 16.67%	2 11.11%	1 5.56%	18 (68.88%)
6	How much intellectual challenging and thought- provoking was the course	18/18	1 5.56%	8 44.44%	6 33.33%	3 16.67%	0 0.00%	18 (67.79%)
7	Rate the teaching/learning experience online.	18/18	2 11.11%	7 38.89%	5 27.78%	0 0.00%	4 22.22%	18 (63.33%)
8	Rate the style of presentation and explanation of the faculties.	18/18	4 22.22%	10 55.56%	4 22.22%	0 0.00%	0 0.00%	18 (79.99%)
9	Rate the quality of teaching in the institution.	18/18	3 16.67%	11 61.11%	2 11.11%	1 5.56%	1 5.56%	18 (75.56%)
10	Rate the transparent evaluation system in the college	18/18	2 11.11%	7 38.89%	7 38.89%	2 11.11%	0 0.00%	18 (69.99%)
11	Rate the BEEA activities, cells activities.	18/18	6 33.33%	9 50.00%	3 16.67%	0 0.00%	0 0.00%	18 (83.33%)
	Overall %			52.78%	25.00%	4.44%	5.56%	72.33%

Student Feedback on Curriculum

Class : II BA POLITICAL SCIENCE HONOURS **Department : POLITICAL SCIENCE**

Overall Performance

S.No	Variables	Feedback Given	E	G	Α	F	Р	Total
1	Rate the overall online initiative taken by the college in this odd semester.	50/51	0 0.00%	0 0.00%	0 0.00%	0 0.00%	0 0.00%	0 (0.00%)
2	Rate the overall online initiative taken by the college in this odd semester.	50/51	13 26.00%	25 50.00%	7 14.00%	4 8.00%	1 2.00%	50 (78.00%)
3	Rate the practical knowledge gained from the current syllabus.	50/51	6 12.00%	15 30.00%	17 34.00%	6 12.00%	6 12.00%	50 (63.60%)
4	Availability of syllabus based material online.	50/51	9 18.00%	26 52.00%	12 24.00%	2 4.00%	1 2.00%	50 (76.00%)
5	Rate the overall syllabus completion on time.	50/51	14 28.00%	21 42.00%	8 16.00%	4 8.00%	3 6.00%	50 (75.60%)
6	How much intellectual challenging and thought- provoking was the course	50/51	5 10.00%	22 44.00%	17 34.00%	6 12.00%	0 0.00%	50 (70.40%)
7	Rate the teaching/learning experience online.	50/51	2 4.00%	22 44.00%	12 24.00%	7 14.00%	7 14.00%	50 (62.00%)
8	Rate the style of presentation and explanation of the faculties.	50/51	7 14.00%	28 56.00%	10 20.00%	4 8.00%	1 2.00%	50 (74.40%)
9	Rate the quality of teaching in the institution.	50/51	12 24.00%	28 56.00%	5 10.00%	2 4.00%	3 6.00%	50 (77.60%)
10	Rate the transparent evaluation system in the college	50/51	12 24.00%	21 42.00%	10 20.00%	6 12.00%	1 2.00%	50 (74.80%)
11	Rate the BEEA activities, cells activities.	50/51	7 14.00%	24 48.00%	10 20.00%	7 14.00%	2 4.00%	50 (70.80%)
	Overall %			46.40%	21.60%	9.60%	5.00%	72.32%

Student Feedback on Curriculum Class : III BA EDUCATION HONOURS Department : EDUCATION

Overall Performance

S.No	Variables	Feedback Given	E	G	А	F	Р	Total
1	Rate the overall online initiative taken by the college in this odd semester.	28/32	0 0.00%	0 0.00%	0 0.00%	0 0.00%	0 0.00%	0 (0.00%)
2	Rate the overall online initiative taken by the college in this odd semester.	28/32	7 25.00%	12 42.86%	6 21.43%	2 7.14%	1 3.57%	28 (75.72%)
3	Rate the practical knowledge gained from the current syllabus.	28/32	6 21.43%	9 32.14%	9 32.14%	2 7.14%	2 7.14%	28 (70.72%)
4	Availability of syllabus based material online.	28/32	6 21.43%	14 50.00%	4 14.29%	4 14.29%	0 0.00%	28 (75.71%)
5	Rate the overall syllabus completion on time.	28/32	6 21.43%	16 57.14%	3 10.71%	2 7.14%	1 3.57%	28 (77.14%)
6	How much intellectual challenging and thought- provoking was the course	28/32	3 10.71%	16 57.14%	5 17.86%	4 14.29%	0 0.00%	28 (72.84%)
7	Rate the teaching/learning experience online.	28/32	1 3.57%	16 57.14%	4 14.29%	2 7.14%	5 17.86%	28 (64.28%)
8	Rate the style of presentation and explanation of the faculties.	28/32	5 17.86%	15 53.57%	6 21.43%	2 7.14%	0 0.00%	28 (76.44%)
9	Rate the quality of teaching in the institution.	28/32	8 28.57%	14 50.00%	4 14.29%	2 7.14%	0 0.00%	28 (80.00%)
10	Rate the transparent evaluation system in the college	28/32	6 21.43%	10 35.71%	11 39.29%	1 3.57%	0 0.00%	28 (75.00%)
11	Rate the BEEA activities, cells activities.	28/32	4 14.29%	13 46.43%	8 28.57%	3 10.71%	0 0.00%	28 (72.86%)
Overall %			18.57%	48.21%	21.43%	8.57%	3.21%	74.07%

Student Feedback on Curriculum

Class : I BA ENGLISH HONOURS

Department : ENGLISH

(E - Excellent, G - Go	ood, A - Average, F	- Fair, P - Poor)
------------------------	---------------------	--------------------

S.No	Variables	Feedback Given	E	G	Α	F	Р	Total
1	Rate the overall online initiative taken by the college in this odd semester.	21/37	0 0.00%	0 0.00%	0 0.00%	0 0.00%	0 0.00%	0 (0.00%)
2	Rate the overall online initiative taken by the college in this odd semester.	21/37	3 14.29%	12 57.14%	2 9.52%	3 14.29%	1 4.76%	21 (72.37%)
3	Rate the practical knowledge gained from the current syllabus.	21/37	2 9.52%	7 33.33%	7 33.33%	3 14.29%	2 9.52%	21 (63.80%)
4	Availability of syllabus based material online.	21/37	6 28.57%	9 42.86%	3 14.29%	3 14.29%	0 0.00%	21 (77.14%)
5	Rate the overall syllabus completion on time.	21/37	7 33.33%	7 33.33%	4 19.05%	2 9.52%	1 4.76%	21 (76.19%)
6	How much intellectual challenging and thought- provoking was the course	21/37	1 4.76%	9 42.86%	8 38.10%	1 4.76%	2 9.52%	21 (65.71%)
7	Rate the teaching/learning experience online.	21/37	0 0.00%	11 52.38%	7 33.33%	2 9.52%	1 4.76%	21 (66.66%)
8	Rate the style of presentation and explanation of the faculties.	21/37	7 33.33%	11 52.38%	1 4.76%	2 9.52%	0 0.00%	21 (81.90%)
9	Rate the quality of teaching in the institution.	21/37	7 33.33%	12 57.14%	2 9.52%	0 0.00%	0 0.00%	21 (84.75%)
10	Rate the transparent evaluation system in the college	21/37	5 23.81%	10 47.62%	3 14.29%	2 9.52%	1 4.76%	21 (75.24%)
11	Rate the BEEA activities, cells activities.	21/37	5 23.81%	11 52.38%	1 4.76%	3 14.29%	1 4.76%	21 (75.23%)
	Overall %		20.48%	47.14%	18.10%	10.00%	4.28%	73.90%

Student Feedback on Curriculum

Class : II BA HISTORY HONOURS Dep

Department : HISTORY

S.No	Variables	Feedback Given	E	G	Α	F	Р	Total
1	Rate the overall online initiative taken by the college in this odd semester.	28/30	0 0.00%	0 0.00%	0 0.00%	0 0.00%	0 0.00%	0 (0.00%)
2	Rate the overall online initiative taken by the college in this odd semester.	28/30	1 3.57%	19 67.86%	6 21.43%	2 7.14%	0 0.00%	28 (73.58%)
3	Rate the practical knowledge gained from the current syllabus.	28/30	0 0.00%	13 46.43%	13 46.43%	2 7.14%	0 0.00%	28 (67.86%)
4	Availability of syllabus based material online.	28/30	2 7.14%	14 50.00%	10 35.71%	2 7.14%	0 0.00%	28 (71.43%)
5	Rate the overall syllabus completion on time.	28/30	7 25.00%	15 53.57%	4 14.29%	2 7.14%	0 0.00%	28 (79.29%)
6	How much intellectual challenging and thought- provoking was the course	28/30	0 0.00%	12 42.86%	15 53.57%	1 3.57%	0 0.00%	28 (67.86%)
7	Rate the teaching/learning experience online.	28/30	1 3.57%	15 53.57%	7 25.00%	2 7.14%	3 10.71%	28 (66.43%)
8	Rate the style of presentation and explanation of the faculties.	28/30	3 10.71%	18 64.29%	6 21.43%	1 3.57%	0 0.00%	28 (76.43%)
9	Rate the quality of teaching in the institution.	28/30	4 14.29%	20 71.43%	3 10.71%	1 3.57%	0 0.00%	28 (79.29%)
10	Rate the transparent evaluation system in the college	28/30	4 14.29%	15 53.57%	6 21.43%	3 10.71%	0 0.00%	28 (74.30%)
11	Rate the BEEA activities, cells activities.	28/30	6 21.43%	9 32.14%	10 35.71%	2 7.14%	1 3.57%	28 (72.14%)
	Overall %		10.00%	53.57%	28.57%	6.43%	1.43%	72.86%

Student Feedback on Curriculum

Class : I BA POLITICAL SCIENCE HONOURS **Department : POLITICAL SCIENCE**

Overall Performance

S.No	Variables	Feedback Given	E	G	Α	F	Р	Total
1	Rate the overall online initiative taken by the college in this odd semester.	45/51	0 0.00%	0 0.00%	0 0.00%	0 0.00%	0 0.00%	0 (0.00%)
2	Rate the overall online initiative taken by the college in this odd semester.	45/51	8 17.78%	25 55.56%	8 17.78%	4 8.89%	0 0.00%	45 (76.45%)
3	Rate the practical knowledge gained from the current syllabus.	45/51	4 8.89%	19 42.22%	18 40.00%	2 4.44%	2 4.44%	45 (69.34%)
4	Availability of syllabus based material online.	45/51	9 20.00%	21 46.67%	13 28.89%	2 4.44%	0 0.00%	45 (76.44%)
5	Rate the overall syllabus completion on time.	45/51	7 15.56%	25 55.56%	6 13.33%	6 13.33%	1 2.22%	45 (73.77%)
6	How much intellectual challenging and thought- provoking was the course	45/51	1 2.22%	23 51.11%	16 35.56%	4 8.89%	1 2.22%	45 (68.44%)
7	Rate the teaching/learning experience online.	45/51	4 8.89%	16 35.56%	18 40.00%	4 8.89%	3 6.67%	45 (66.22%)
8	Rate the style of presentation and explanation of the faculties.	45/51	12 26.67%	26 57.78%	5 11.11%	2 4.44%	0 0.00%	45 (81.34%)
9	Rate the quality of teaching in the institution.	45/51	13 28.89%	27 60.00%	5 11.11%	0 0.00%	0 0.00%	45 (83.56%)
10	Rate the transparent evaluation system in the college	45/51	4 8.89%	31 68.89%	5 11.11%	5 11.11%	0 0.00%	45 (75.11%)
11	Rate the BEEA activities, cells activities.	45/51	11 24.44%	22 48.89%	10 22.22%	2 4.44%	0 0.00%	45 (78.66%)
	Overall %		16.22%	52.22%	23.11%	6.89%	1.56%	74.93%

Student Feedback on Curriculum

Class : III BA HISTORY HONOURS Department : HISTORY

S.No	Variables	Feedback Given	E	G	Α	F	Р	Total
1	Rate the overall online initiative taken by the college in this odd semester.	21/23	0 0.00%	0 0.00%	0 0.00%	0 0.00%	0 0.00%	0 (0.00%)
2	Rate the overall online initiative taken by the college in this odd semester.	21/23	4 19.05%	14 66.67%	3 14.29%	0 0.00%	0 0.00%	21 (80.95%)
3	Rate the practical knowledge gained from the current syllabus.	21/23	4 19.05%	11 52.38%	5 23.81%	1 4.76%	0 0.00%	21 (77.14%)
4	Availability of syllabus based material online.	21/23	4 19.05%	13 61.90%	4 19.05%	0 0.00%	0 0.00%	21 (80.00%)
5	Rate the overall syllabus completion on time.	21/23	5 23.81%	12 57.14%	3 14.29%	1 4.76%	0 0.00%	21 (79.99%)
6	How much intellectual challenging and thought- provoking was the course	21/23	3 14.29%	13 61.90%	5 23.81%	0 0.00%	0 0.00%	21 (78.10%)
7	Rate the teaching/learning experience online.	21/23	3 14.29%	11 52.38%	5 23.81%	2 9.52%	0 0.00%	21 (74.29%)
8	Rate the style of presentation and explanation of the faculties.	21/23	5 23.81%	12 57.14%	4 19.05%	0 0.00%	0 0.00%	21 (80.95%)
9	Rate the quality of teaching in the institution.	21/23	5 23.81%	12 57.14%	3 14.29%	1 4.76%	0 0.00%	21 (79.99%)
10	Rate the transparent evaluation system in the college	21/23	1 4.76%	16 76.19%	3 14.29%	1 4.76%	0 0.00%	21 (76.18%)
11	Rate the BEEA activities, cells activities.	21/23	4 19.05%	11 52.38%	6 28.57%	0 0.00%	0 0.00%	21 (78.09%)
	Overall %		18.10%	59.52%	19.53%	2.86%	0.00%	78.57%